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QUESTION 1

Which of these taxonomic ranks is arranged to show broadest, most inclusive to narrowest, most exclusive? 

A. phylum, species, order 

B. species, genus, family 

C. species, family, class 

D. kingdom, phylum, class 

Correct Answer: D 

 

QUESTION 2

The passage suggests that which of the following would be likely to reduce the isolation felt by women medical
students? 

A. An increased proportion of women in medical schools. 
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B. A decrease in the number of women filling faculty positions in medical schools. 

C. A decrease in support services available to women students. 

D. A more complete segregation between men and women in medical schools. 

Correct Answer: A 

 

QUESTION 3

The addition of a catalyst to a chemical reaction will have what effect? 

A. Increase the energy required for the reaction to take place 

B. Increase the time required for the reaction to take place 

C. Increase the rate at which the reaction takes place 

D. Reduce the amount of products in the reaction 

Correct Answer: C 

 

QUESTION 4

What is the function of tRNA during DNA transcription? 

A. tRNA bonds together amino acids and then releases them to create an elongated chain of amino acids. 

B. tRNA contains codons during DNA transcription. 

C. tRNA is the piece of DNA produced during transcription. 

D. tRNA brings the amino acids to the site of synthesis. 

Correct Answer: D 

 

QUESTION 5

An organism that has a genotype of two dominant alleles for one gene is: 

A. Heterozygous. 

B. Homozygous. 

C. Multiparous. 

D. Nulliparous. 

Correct Answer: B 
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